STAAR Spring 2024 Grade 6 Math Answer Key

Item Item TEKS Maximum Correct Reporting | Readiness
Position | Type | Alignment Il Answer(s) LRI or
of Points Supporting |
Multiple ;
1 Choice 6.2.10.B 1 A 2 Supporting
2 Multiple | ¢ 4 12.p 1 D 4 Readiness
Choice
3 Multl_ple 6.3.11.A 1 B 3 Readiness
Choice
Inline 8,
Choice asymmetrical .
4 6.4.12.B 2 See Appendix 4 Supporting
1.1
5 Multiple | ¢ 5 10.A 1 C 2 Readiness
Choice
6 Multl.ple 6.1.7.D 1 A 1 Readiness
Choice
7 MU|t'.p|e 6.3.8.D 1 B 3 Readiness
Choice
Multiple .
8 Choice 6.1.2.B 1 A 1 Supporting
Multiple .
9 Choice 6.3.8.A 1 B 3 Supporting
Multiple ;
10 Choice 6.4.13.B 1 A 4 Supporting
Drag 7, 28
11 and 6.2.5.B 2 See Appendix 2 Readiness
Drop 1.2
12 | Multible | g3 4H 1 B 3 Readiness
Choice
Drag —11—70, —0.209,
and 1 35 46
13 Drop 6.1.2.D 1 8’ 52’ 24 1 Readiness
See Appendix
1.3
Multiple .
14 Choice 6.2.5.A 1 A 2 Supporting
Hot (5 1 )
Spot 2P
— (2 . 7)
1
15 6.1.7.D 1 op 5 1 Readiness
— (7 . 2)

See Appendix
1.4




Multiple

16 . 6.2.6.C D Readiness
Choice
Drag 12, 6, 30, 12
17 and 6.4.12.D See Appendix Readiness
Drop 1.5
Multiple ;
18 Choice 6.2.4.A C Supporting
19 Multl_ple 6.4.12.C D Readiness
Choice
Number The line is
Line graphed with
an open circle
at 6 and an .
20 6.2.9.B arrow pointing Supporting
to the right.
See Appendix
1.6
21 Multl_ple 6.1.4.G A Readiness
Choice
22 Multl_ple 6.2.3.D D Readiness
Choice
Multiple ;
23 Choice 6.4.14.A A Supporting
Multiple .
24 Choice 6.1.2.A B Supporting
25 Multl_ple 6.4.13.A C Readiness
Choice
26 Mult|_p|e 6.2.5.B B Readiness
Choice
Multiple 120 S.V. and
Select 48 A.V.
27 6.1.4.C 85 S.X.\?nd 34 Supporting
See Appendix
1.7
Multiple ;
28 Choice 6.2.6.B C Supporting
Graph (—4,-3), (-4, 7)
29 6.3.11.A See Appendix Readiness
1.8
Multiple ;
30 Choice 6.2.9.A C Supporting
31 Multl_ple 6.1.7.D D Readiness
Choice
Equation 16.5
32 6.3.8.D See Appendix Readiness

1.9




Multiple

33 Choice 6.2.4.B C Readiness
Drag 0.375, 37.5%

34 and 6.1.4.G See Appendix Readiness
Drop 1.10

35 Multiple 6.2.3.E C Readiness
Choice T

36 | Multiple | ¢ 4146 B Supporting

Choice




STAAR Spring 2024 Grade 6 Math
Appendix

1.1
The dot plot shows the number of games a middle school basketball team won in each of the past 15 seasons.

Games Won Each Season
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Number of Games

Each ® means 1 season.

Choose the correct answer from each drop-down menu to complete the statements.

The mean of the data is | 8 2|, and the distribution of the data is | asymmetrical 4

1.2

Kara owns 35 books. Of these books, 20% have fewer than 100 pages and 80% have 100 pages or more.
Complete the statement about the books Kara owns.

Move the correct answer to each box. Not all answers will be used.

13

Arrange the numbers in order from least to greatest.

Move the correct answer to each box.

35 46
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—
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Least Greatest



14

Which two expressions are equivalent?
Select TWO correct answers.

| (boose7)-2 || sfie-2)-7

| (o05-2) 7

15

A project was assigned to 60 students. Each student could choose to create a model, write a paper, create a

computer presentation, or make a video. The percentage bar graph shows the percentage of the students who
created each type of project.

KEY
Type of Project [ Model
O Paper
B Presentation
W video
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

What is the number of students who created each type of project?

Move the correct answer to each box in the table. Each answer may be used more than once. Not all answers will be
used.

Type of Project

Item Number of Students
Model 12
Paper 6

Presentation

Video




1.6

A basketball team was losing by 18 points. Then 3 players each scored an equal number of points, and the team
won the game. The opposing team did not score any additional points. The inequality 3p > 18 can be used to
determine the number of points each of the 3 players scored to win the game.

What is the solution to the inequality?

Select a ray. Move the point on the ray to the correct place on the number line.

o 1+r 2 3 4 5 6 T 8 9
L+ 1 o 1 o v 1 A a1
(||||||||||||\y||r|||>

(o5 [
oo | @ | e

1.7

There are 5 student volunteers for every 2 adult volunteers at an event. Which groups could represent the numbers
of student volunteers and adult volunteers at the event?

Select TWO correct answers.

3 120 student volunteers and 48 adult volunteers
[} 20 student volunteers and 50 adult volunteers
85 student volunteers and 34 adult volunteers
[} 70 student volunteers and 14 adult volunteers

[] 65 student volunteers and 13 adult volunteers



1.8

A student is drawing a vertical line segment on the coordinate grid shown. The student starts at point (— 4, — 3) and
extends the line segment 10 units up from the starting point.

Plot the points on the coordinate grid to show the line segment the student draws.

Select two points on the coordinate grid. A line segment will connect the points.

¥
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t
(7755 3 o2 - 1234557)X
=t
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1.9

The dimensions of a rectangular prism are shown in meters.

1m

5.5m

What is the volume of the rectangular prism in cubic meters?

Enter your answer in the box.

5]
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oo




1.10

3
'3

3

In Jada’s class of the students have blue eyes. Which values are equivalent to §?

Move the correct answer to each box. Not all answers will be used.

The values | 0.375 | and | 37.5% | are equivalent to %
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STAAR Spring 2024 Grade 6 Math Answer Key

Item Item TEKS Maximum Correct Reporting | Readiness
Position | Type | Alignment Il Answer(s) LRI or
of Points Supporting |
Multiple ;
1 Choice 6.2.10.B 1 A 2 Supporting
2 Multiple | ¢ 4 12.p 1 D 4 Readiness
Choice
3 Multl_ple 6.3.11.A 1 B 3 Readiness
Choice
Inline 8,
Choice asymmetrical .
4 6.4.12.B 2 See Appendix 4 Supporting
1.1
5 Multiple | ¢ 5 10.A 1 C 2 Readiness
Choice
6 Multl.ple 6.1.7.A 1 A 1 Readiness
Choice
7 MU|t'.p|e 6.3.8.D 1 B 3 Readiness
Choice
Multiple .
8 Choice 6.1.2.B 1 A 1 Supporting
Multiple .
9 Choice 6.3.8.A 1 B 3 Supporting
Multiple ;
10 Choice 6.4.13.B 1 A 4 Supporting
Drag 7, 28
11 and 6.2.5.B 2 See Appendix 2 Readiness
Drop 1.2
12 | Multible | g3 4H 1 B 3 Readiness
Choice i
Drag 1L, —0.209,
and 1 35 46
13 Drop 6.1.2.D 1 8’ 52’ 24 1 Readiness
See AEendix
Multiple .
14 Choice 6.2.5.A 1 A 2 Supporting
Hot 1
Spot (5 Ep) =
-2-7)
15 6.1.7.D 1 (1 5) B 1 Readi
1.7. 5P E eadiness
— (7 . 2)
See Appen

1.4




Shaina Seltzer

Sticky Note

negative 1 and 7 over 10



Shaina Seltzer

Sticky Note

negative 1 over 8



Shaina Seltzer

Sticky Note

35 over 52



Shaina Seltzer

Sticky Note

46 over 24



Kevin Fatica

Sticky Note

Open parenthesis 5 times the quantity 1 over 2 p close parenthesis



Kevin Fatica

Sticky Note

Negative sign open parenthesis 2 times 7 close parenthesis



Kevin Fatica

Sticky Note

Open parenthesis the quantity 1 over 2 p times 5 close parenthesis



Kevin Fatica

Sticky Note

Negative sign open parenthesis 7 times 2 close parenthesis





Multiple

16 . 6.2.6.C D Readiness
Choice
Drag 12, 6, 30, 12
17 and 6.4.12.D See Appendix Readiness
Drop 1.5
Multiple ;
18 Choice 6.2.4.A C Supporting
19 Multl_ple 6.4.12.C D Readiness
Choice
Number The line is
Line graphed with
an open circle
at 6 and an .
20 6.2.9.B arrow pointing Supporting
to the right.
See Appendix
1.6
21 Multl_ple 6.1.4.G A Readiness
Choice
22 Multl_ple 6.2.3.D D Readiness
Choice
Multiple ;
23 Choice 6.4.14.A A Supporting
Multiple .
24 Choice 6.1.2.A B Supporting
25 Multl_ple 6.4.13.A C Readiness
Choice
26 Mult|_p|e 6.2.5.B B Readiness
Choice
Multiple 120 S.V. and
Select 48 A.V.
27 6.1.4.C 85 S.X.\?nd 34 Supporting
See Appendix
1.7
Multiple ;
28 Choice 6.2.6.B C Supporting
Graph (—4,-3), (-4, 7)
29 6.3.11.A See Appendix Readiness
1.8
Multiple ;
30 Choice 6.2.9.A C Supporting
31 Multl_ple 6.1.7.D D Readiness
Choice
Equation 16.5
32 6.3.8.D See Appendix Readiness

1.9






Multiple

33 Choice 6.2.4.B C Readiness
Drag 0.375, 37.5%

34 and 6.1.4.G See Appendix Readiness
Drop 1.10

35 Multiple 6.2.3.E C Readiness
Choice T

36 | Multiple | ¢ 4146 B Supporting

Choice






STAAR Spring 2024 Grade 6 Math
Appendix

1.1
The dot plot shows the number of games a middle school basketball team won in each of the past 15 seasons.

Games Won Each Season
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E Each ® means 1 season.

Choose the correct answer from each drop-down menu to complete the statements.

The mean of the data is [8 2|, and the distribution of the data is[asymmetrical 4
12 = =

Kara owns 35 books. Of these books, 20% have fewer than 100 pages and 80% have 100 pages or more.

Complete the statement about the books Kara owns.

Move the correct answer to each box. Not all answers will be used.

o
s O

Arrange the numbers in order from least to greatest.

Move the correct answer to each box.

=

35 46
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Least Greatest
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Shaina Seltzer

Sticky Note

A dot plot is titled Games Won Each Season. The number line is labeled "Number of Games" and ranges from 2 to 12, in increments of one. The data are as follows:
1 dot displayed at 2
1 dot displayed at 4
2 dots displayed at 6
1 dot displayed at 7
2 dots displayed at 8
3 dots displayed at 9
3 dots displayed at 10
2 dots displayed at 11



Shaina Seltzer

Sticky Note

8 (correct answer)



Shaina Seltzer

Sticky Note

asymmetrical (correct answer)



Shaina Seltzer

Sticky Note

There are six answer choices. They are as follows: 7; 8; 20; 27; 28; 80.



Shaina Seltzer

Sticky Note

7 (correct answer)



Shaina Seltzer

Sticky Note

28 (correct answer)



Shaina Seltzer

Sticky Note

There are answer choices. They are as follows: 46 over 24; -0.209; negative 1 over 8, 35 over 52; negative 1 and 7 over 10.



Shaina Seltzer

Sticky Note

A key indicates each dot means 1 season.



Kevin Fatica

Sticky Note

Ordered from least to greatest, the correct answer reads as follows: negative 1 and 7 over 10; -0.209; negative 1 over 8; 35 over 52; 46 over 24.





14

Which two expressions are equivalent?

Select TWO correct answers.

%

15

A project was assigned to 60 students. Each student could choose to create a model, write a paper, create a
computer presentation, or make a video. The percentage bar graph shows the percentage of the students who

created each type of project.

=

0%

Type of Project

30% 40% 50%

60% 70% 80% 90% 100%

What is the number of students who created each type of project?

KEY
O Model
O Paper
B Presentation
M video

=

Move the correct answer to each box in the table. Each answer may be used more than once. Not all answers will be

used.

=

Type of Project

Item Number of Students
Model 12
Paper 6

30

Presentation

Video




Shaina Seltzer

Sticky Note

Open parenthesis 5 multiplied by 1 over 2 times p close parenthesis minus open parenthesis 2 multiplied by 7 close parenthesis (correct answer)



Shaina Seltzer

Sticky Note

Open parenthesis 1 over 2 times p multiplied by 5 multiplied by 7 close parenthesis minus 2



Shaina Seltzer

Sticky Note

5 open parenthesis 1 over 2 times p minus 2 close parenthesis multiplied by 7



Shaina Seltzer

Sticky Note

Open parenthesis 1 over 2 times p multiplied by 5 close parenthesis minus open parenthesis 7 multiplied by 2 close parenthesis (correct answer)



Shaina Seltzer

Sticky Note

Open parenthesis 1 over 2 times p multiplied by 5 minus 2 close parenthesis multiplied by 7



Kevin Fatica

Sticky Note

A percentage bar graph is titled "Type of Project" and labeled from 0-100%. The 0-20% range is not shaded. The 20-30% range is lightly shaded. The 30-80% range has medium-shading. The 80-100% range has dark shading.



Kevin Fatica

Sticky Note

A key reads as follows: 
No shading: Model.
Light shading: Paper.
Medium shading: Presentation.
Dark shading: Video.



Kevin Fatica

Sticky Note

There are six answer choices as follows: 6; 10; 12; 20; 30; 50.



Kevin Fatica

Sticky Note

A table is titled "Type of Project." The table has 2 columns and 4 rows. The first column is labeled "Item" and the second column is labeled "Number of Students." The columns for "Item" and "Number of Students" read as follows: 
Row 1: Model, 12 (correct answer).
Row 2: Paper, 6 (correct answer).
Row 3: Presentation, 30 (correct answer).
Row 4: Video, 12 (correct answer).





1.6

A basketball team was losing by 18 points. Then 3 players each scored an equal number of points, and the team
won the game. The opposing team did not score any additional points. The inequality 3p > 18 can be used to
determine the number of points each of the 3 players scored to win the game.

What is the solution to the inequality? E

Select a ray. Move the point on the ray to the correct place on the number line.

==
o | 0o | [immene |
O O

1.7

There are 5 student volunteers for every 2 adult volunteers at an event. Which groups could represent the numbers
of student volunteers and adult volunteers at the event?

Select TWO correct answers.

3 120 student volunteers and 48 adult volunteers E
[} 20 student volunteers and 50 adult volunteers E
85 student volunteers and 34 adult volunteers E

[} 70 student volunteers and 14 adult volunteers E

[] 65 student volunteers and 13 adult volunteers E



Shaina Seltzer

Sticky Note

120 student volunteers and 48 adult volunteers (correct answer)



Shaina Seltzer

Sticky Note

20 student volunteers and 50 adult volunteers (answer option)



Shaina Seltzer

Sticky Note

85 student volunteers and 34 adult volunteers (correct answer)



Shaina Seltzer

Sticky Note

70 student volunteers and 14 adult volunteers (answer option)



Shaina Seltzer

Sticky Note

65 student volunteers and 13 adult volunteers (answer option)



Shaina Seltzer

Sticky Note

3 times p is greater than 18



Shaina Seltzer

Sticky Note

A line with an open circle and an arrow pointing right, marked "Remove"



Shaina Seltzer

Sticky Note

A line with an arrow pointing left and a closed circle.



Shaina Seltzer

Sticky Note

A line with an open circle and an arrow pointing right.



Shaina Seltzer

Sticky Note

A line with an arrow pointing left and a open circle.



Shaina Seltzer

Sticky Note

A line with a closed circle and an arrow pointing right.



Kevin Fatica

Sticky Note

A number line ranges from 0 through 9. There is an open circle at the number 6. The numbers 6 and greater are highlighted.





1.8

A student is drawing a vertical line segment on the coordinate grid shown. The student starts at point (— 4, — 3) and
extends the line segment 10 units up from the starting point.

Plot the points on the coordinate grid to show the line segment the student draws.

Select two points on the coordinate grid. A line segment will connect the points.
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1.9

The dimensions of a rectangular prism are shown in meters.

=

5.5m

What is the volume of the rectangular prism in cubic meters?

Enter your answer in the box.
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Shaina Seltzer

Sticky Note

A coordinate grid ranges from negative 7 to 7 on the x axis and negative 7 to 7 on the y axis. A vertical line connects two points: the coordinates (-4,-3) and (-4, 7).



Shaina Seltzer

Sticky Note

16.5 (correct answer)



Kevin Fatica

Sticky Note

A rectangular prism measures 5.5 meters by 3 meters by 1 meter.



Kevin Fatica

Sticky Note

Allyant: these calculator graphics are decorative.





1.10

In Jada’s class, §J of the students have blue eyes. Which values are equivalent to %E

Move the correct answer to each box. Not all answers will be used.

=

O O =



Shaina Seltzer

Sticky Note

3 over 8



Shaina Seltzer

Sticky Note

3 over 8



Shaina Seltzer

Sticky Note

There are five answer choices. They are as follows: 0.375; 0.38; 37.5 percent; 3.8 percent; 38 percent.



Shaina Seltzer

Sticky Note

0.375 (correct answer)



Shaina Seltzer

Sticky Note

37.5 percent



Shaina Seltzer

Sticky Note

3 over 8











